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UNIVERSITY OF NORTH BENGAL 
B.A. Honours 4th Semester Examination, 2022  

GE2-P2-NEPALI  

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 The question paper contains GE-2A & GE-2B. The candidates are 
required to answer any one from the two Courses. 

Candidates should mention it clearly on the answer book. 

 GE-2A 
usikyh lekt j laLÑfr 

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~ & 3×4 = 12

(d) laLÑfr HkUukys ds cqf>UN \ 

 ([k) usikyh lektdk ekSfyd [kkuiku ds ds gqUN \ 

(x) peid HkUukys ds cqf>UN \ 

(?k) /kkfeZd vkLFkk HkUukys ds cqf>UN \ 

(³) usikyhdk ikjEifjd gkrgfr;kj ds gqUN \ 

(p) *lekt* dks vFkZ Li’V ikuZqgksl~A 
  

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~ & 6×4 = 24

(d) usikyh yksd cktk j frudks iz;ksxA 

([k) lekt j laLÑfrdks lEcU/kA 

(x) nसɆdks lkaLÑfrd egÙoA 
(?k) usikyh pkMioZ j euksjuA 

(³) usikyhdk ikjEifjd Hkk¡Mkdq¡MkA 

(p) usikyh pkMioZdks /kkfeZd egÙoA 

  

3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ & 12×2 = 24

(d) usikyh pkMioZdks lkekftd j lkaLÑfrd i{k Li’V ikuZqgksl~A 

([k) usikyh tuekulek ikbus yksd fo”oklckjs ,mVk ys[k ys[uqgksl~A 
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(x) laLÑfrdks vFkZ j ifjHkk’kk fn,j usikyh laLÑfrdk fo”ks’krkg: mYys[k xuZqgksl~A 

(?k) usikyh lektdks xBu izfØ;kekfFk izdk”k ikuZqgksl~A 

  
 GE-2B 

usikyh yksd lkfgR;dks ifjp; 

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~ & 3×4 = 12

(d) *dfoÙk* HkUukys ds cqf>UN \ 

 ([k) pk¡pjh HkUukys ds cqf>UN \ 

(x) okX/kkjk HkUukys ds cqf>UN mnkgj.k fn,j iz’V ikuZqgksl~A 

(?k) ck॑keklk Hkusdks ds gks \ ,mVk mnkgj.k}kjk cq>kmuqgksl~A 

(³) xk¡m[kkus dFkkykbZ lksnkgj.k fpukmuqgksl~A 

(p) *[kk¡Mks txkmuq* HkUukys ds cqf>UN \ 

  

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~ & 6×4 = 24

(d) *ÖÓkmjs* dk yksdfiz;rkdk dkj.kg:A 

([k) usikyh Hkk’kkdk f”k{kk lEcU/kh m[kkug:A 

(x) *lsyks* dk fo”ks’krkg:A 
(?k) usikyh tuthouek *flyksd* dks iz;ksx j egÙoA 

(³) /kkejh dk fo”ks’krkg:A 

(p) yksd lkfgR;dk fo”ks’krkg:A 

  

3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ & 12×2 = 24

(d) usikyh yksdxhrdk izdkj j Lo:i dsykmuqgksl~A 

([k) usikyh dforkdk izdkj j Lo:i dsykmuqgksl~A 

(x) lkfgR;ek m[kku j VqDdkdks iz;ksx j egÙo Li’V ikuZqgksl~A 

(?k) lkfgR; j yksd lkfgR; ek>dks fHkUurk dsykmuqgksl~A 
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